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Answers

1.

808⁄990

2.
45996⁄9900

3.
62437⁄99000

4.
535209⁄99000

5.

2202⁄90

6.

30309⁄990

7.

3843⁄9900

8.

8908⁄900

9.

660⁄900

10.

1245⁄990

Rewrite each infinitely repeating decimal as a rational number (fraction).

1) 0.816

f = 0.816

-

1,000f = 816.16

10f = 008.16

990f = 808

f = 
808⁄990

2) 4.6460

f = 4.6460

-

10,000f = 46460.60

100f = 00464.60

9900f = 45996

f = 
45996⁄9900

3) 0.63067

f = 0.63067

-

100,000f = 63067.67

1,000f = 00630.67

99000f = 62437

f = 
62437⁄99000

4) 5.40615

f = 5.40615

-

100,000f = 540615.15

1,000f = 005406.15

99000f = 535209

f = 
535209⁄99000

5) 24.46

f = 24.46

-

100f = 2446.6

10f = 0244.6

90f = 2202

f = 
2202⁄90

6) 30.615

f = 30.615

-

1,000f = 30615.15

10f = 00306.15

990f = 30309

f = 
30309⁄990

7) 0.3881

f = 0.3881

-

10,000f = 3881.81

100f = 0038.81

9900f = 3843

f = 
3843⁄9900

8) 9.897

f = 9.897

-

1,000f = 9897.7

100f = 0989.7

900f = 8908

f = 
8908⁄900

9) 0.733

f = 0.733

-

1,000f = 733.3

100f = 073.3

900f = 660

f = 
660⁄900

10) 1.257

f = 1.257

-

1,000f = 1257.57

10f = 0012.57

990f = 1245

f = 
1245⁄990
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